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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mandatory
20

20

80

Yes

1
7081911058

Yes

Question Number : 1 Question Id : 70819118574 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819160871, Both A and R are correct and R is the correct explanation of A

70819160872 Both A and R are correct but R is NOT the correct r_-xplanation of A

70819160873. A is correct but R is not correct

70819160874.

A is not correct but R is correct

Question Number : 1 Question Id : 70819118574 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819118575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT™ 1]
(b) E (kinetic energy) (i) [MLZT ]
(c) V (electric potential) (in) [ML2T-2
(d) P (linear momentum) (ivy ML2I"1T-9

Choose the correct answer from the options given below :
Options :
70819160875, (@ — (). (b) — (ii), (c) — (iv), (d) — (iii)

20819160876, (@ — (iii), (b) — (iv), (c) — (ii), (d) — (i)

70819160877. (a) — (1), (b) — (ii), (c) — (iv), (d) — (1)



70819160878, (@) — (i), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 2 Question Id : 70819118575 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

List - I 5508G50 List - I 385380080

List - 1 List - 11
(a) h(308 BoroLsn) (i) MLT Y
(b) E(r&38) (i) ML2T-7]
(@ V(Do BYHS) (i) [ML2T 2|
(d) PE@HS (GSgSriso) (ivy [ML21-1T-9]
v £ o

Options :
70819160875, (@1 (P)-(ii), (c)-(v), (d)-(ii)

70819160876, (@-(ii), (b)-(iv), (c)-(ii), (d)-(i)

70819160877, (@-(i), (b)-(iii), (c)-(iv), (d)-(1)

70819160878, (@-(1i), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 3 Question Id : 70819118576 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

: 2
70819160879, 16 m/s”

70819160880, ™ ms ?



70819160881, 28 ms™ <

o i oFi i
70819160882, 27 ms =

Question Number : 3 Question Id : 70819118576 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

- 7
70819160879, 10 m/s
70819160880, T ms *

70819160881, 28 ms™ <

o i oFi i
70819160882, 27 ms =

Question Number : 4 Question Id : 70819118577 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options:

70819160883, -0 €™



70819160884, 154 cm

70819160885, 148 cm

70819160886, 10 €M

Question Number : 4 Question Id : 70819118577 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819160883, -0 €™

70819160884, 184 cm

70819160885, 1 +8 cm

70819160886, 1> €M
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Question Number : 5 Question Id : 70819118578 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e I I I T e
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
H %
G D
F E
Options :
70819160887, 101124 j+32k
70819160888, ~161 24 j+32k
70819160889, 101 ~24j+32k
) -"I'-. ’ .f-:_ '::I_z:.
70819160890, 101124732k

Question Number : 5 Question Id : 70819118578 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2.5 ABCDEFGH %éﬁﬁ@“éﬁ gheren Haeddn wawsd, & Bod Jnddo

= W = o = A =
AB+AC+ AD+ AE +AF + AG+ AH 208 ?

— A A M e
AO=2i+3j-4k wond :

Options :



70819160887, 107124432k

70819160888, ~161 24 j+32k

70819160889, 16124 j+32k

e . -’1_ . A
70819160890, 101124732k

Question Number : 6 Question Id : 70819118579 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are rc-volvmg round the earth at hoight
of 600 km and 1600 km respectively.

If T_ﬁi and TB are the time pE‘.‘I‘if}dS of Aand B respectivel}-' then the value of TB—TA :

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options:
3
70819160891, 1-33x 107 s

] ; 3
70819160892, +24x107 s

Wi
70819160893, +:24x 107 s

2
70819160894, >-33x10%s



Question Number : 6 Question Id : 70819118579 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

200 kg 9600 400 kg Eeyordien o Do A, B &ilifen e DHép 600 km 0dn
1600 km Q@{ﬁ a”:ﬁ:‘jm Eﬂ’gﬁ“uﬂ 2,634 T, Snbako Ty Hdre 78 6 sFohnen
WoNID Te=T, Sensd

Options :
3
70819160891, 1-33x 107 s

y ; 3
70819160892, +24x107 s

)
70819160893, +-24x 107 s

2
70819160894, >-33x 107 s

Question Number : 7 Question Id : 70819118580 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819160895, ~ U2 A
70819160896, ~U43 A
70819160897, ~ 086 A
70819160898, ~ 12 A

Question Number : 7 Question Id : 70819118580 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Dy 100
D"I AN
D
% 50
K A

X Y

Options :

70819160895, ~ 02 4



~043 A

70819160896.
70819160897, ~0-86 A
70819160898, ~ 12 A

Question Number : 8 Question Id : 70819118581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : A spood*. sigm[ of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement 1l : The side band frequencies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160899. Both Statement | and Statement 1l are true

70819160900. Both Statement I and Statement 11 are false

70819160901, Statement 1 is true but Statement 1l is false

70819160902. Statement 1 is false but Statement 11 is true

Question Number : 8 Question Id : 70819118581 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819160899.

70819160900.

70819160901.

70819160902.

Question Number : 9 Question Id : 70819118582 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are
Reason K.

two statements : one is labelled as Assertion A and the other is labelled as

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.

Reason R : On heaﬁng, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819160903.

70819160904.

70819160905.

70819160906.

Both A and R are true and R is the correct explanation of A

Both A and R are true but R is NOT the correct expla_naticrn of A

A is true but R is false

A is [alse but R is true
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Question Number : 9 Question Id : 70819118582 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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58050 R en 9830350, R 9558 A 8 368 258
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70819160905, A POFNE, =0 R D008 =7

70819160906.

Question Number : 10 Question Id : 70819118583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (1) at time t=0 and t= = respectively for the given circuit is :

5 {} 511
M
10 410
————— GG o0 O
L

Options:
18E SE

70819160907, 2> 18



5E 18E
70819160908, 18 35

106 SE

70819160909, -° 18

5E 10E

70819160910, 18 33

Question Number : 10 Question Id : 70819118583 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

50 50
¥
10 40
L e
I
Options :
18E 5E
70819160907, 2> 18
'5E 18E

70819160908, 18 55

106 SE

70819160909, -- 18

'5E 10E

70819160910, 18 33

: MCQ Option Shuffling : Yes



Question Number : 11 Question Id : 70819118584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first Iinear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819160911, 1-64 mm
70819160912, 0-90 mm

70819160913, U-82 mm

70819160914, 1-80 mm

Question Number : 11 Question Id : 70819118584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options
70819160911, 1-64 mm
70819160912, 0-90 mm

70819160913, U-82 mm



70819160914, -850 mm

Question Number : 12 Question Id : 70819118585 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ana particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
this, their de Broglie wavelengths are A, and A, respectively. The ratio -~ is:
(i)

Options:

70819160915, 2.8

70819160916.

=]
oo

70819160917.

70819160918, -8

Question Number : 12 Question Id : 70819118585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819160915, 2.8

70819160916, ©



70819160917, /-8

70819160918, -8

Question Number : 13 Question Id : 70819118586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iig_ht sOUrces having intensity in the ratio 2x producr_- an interference pattern.

| ..
The ratio 222 T il be :
max | min
Options :
2y
D]

70819160919, =¥ 1

70819160920, 2*11

70819160921, * 11

—

v 2x

70819160922, **1

]

Question Number : 13 Question Id : 70819118586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819160919, =¥ *1

70819160920, 2*11

70819160921, * 11

P
v 2x

70819160922, **1

]

Question Number : 14 Question Id : 70819118587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options:
u+to

70819160923, 2

[ I |
70819160924, 2

III’2 | HE

V2
70819160925, 2

[ 2 2

(o= —u*

V2
70819160926. -



Question Number : 14 Question Id : 70819118587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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u+v

70819160923, 2
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o]

70819160924.

|Iv1'i'E ol

|
70819160925, | 2

R TETETY
N T
[U° —u

|
70819160926. \

I

Question Number : 15 Question Id : 70819118588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an a particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is and their speed is
, in the ratio.

Options :

70819160927. 4:2:1and 2:1:1
70819160928. Zel=land4d:2:)
70819160929, 1:2:4and1:1:2

o 2.
70819160930, 1 2:4and2:1:1



Question Number : 15 Question Id : 70819118588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819118589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :
70819160931, 01 M
70819160932, V19 m

70819160933, V-2 m

70819160934, 1-0 m



Question Number : 16 Question Id : 70819118589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
0.1 m
70819160931.
70819160932, 1o m

70819160933, U-2 m

70819160934, 1-0 m

Question Number : 17 Question Id : 70819118590 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=600
AR
15V
r: (
ey K400 L8220V
& T
Options :

70819160935, 1-23 H and 250 pF

70819160936. 1.33 H and 150 pF



70819160937 0.8 H and 150 pF

gl b
70819160938, -8 H and 250 uF

Question Number : 17 Question Id : 70819118590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a

i I ™
T L I PR IRy, S VoV VI T SR v
S d® e LC-R dechand® dsrosl aine (Harard)

R=60 1)
WA
15V
c==goy  RTR0E gy
—1
Options:

70819160935. 1.33 H 0850 250 pF
70819160936. 1.33 H s08ad50 150 pF

TR :
70819160937, V-8 H :90¢ma 150 uF

20819160938, -8 H 0003 250 uF

Question Number : 18 Question Id : 70819118591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 .5
A diatomic gas, having Cp =§R and C\;:ER, is heated at constant pressure. The ratio
dU:dQ:dW:

Options :



|
I3

70819160939, 2:

70819160940.

70819160941. = °

|
(o8]

70819160942, 2 :

Question Number : 18 Question Id : 70819118591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“jb’&a’u;@ ig, a8 Bdtdrem A 3R FoaTh. © T To¥) C]J—;R 30805
C 5R i T T oy, O
V _E ;o008 dU:dQ: dW 2 8
Options :
70819160939, 2:7:2
e e
70819160940.
v e 3
70819160941. 3:9:2

70819160942, 273

Question Number : 19 Question Id : 70819118592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two radioactive substances X and Y originally have l\]l and N2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio & will be equal o:
Na

Options :

r—=|L.-J'

70819160943.

=...-J|r-a'

70819160944,

|=-J|!I:-'

70819160945.

oo | =

70819160946.

Question Number : 19 Question Id : 70819118592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
3
70819160943, 1
1
70819160944, 3
8
1

70819160945.



3
70819160946, 8

Question Number : 20 Question Id : 70819118593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphorr_- of radius R gravitaﬁona[l}-' attracts a pa_rticle placr_-d al 3R from its centre with

-
A"
a force F,. Now a spherical cavity of radius | Y | is made in the sphere (as shown in figure)
) =3

and the force becomes Fz- The value of Fl - l"'2 is :

Options :

70819160947, 1150

70819160948, 20 * 41

70819160949, 26: 2

2 . 34
70819160950. SHE

Question Number : 20 Question Id : 70819118593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

41 : 50

70819160947.

70819160948, 20 * 41

70819160949, 36 : 25

70819160950, = 0

Physics Section B
Section Id : 708191779
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 7081911059

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118594 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If cnntainor is suddenly stopped then change in temperature of the gas

X
—
(R=gas constant) is R Valueof xis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819118594 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2.8 08 FESE 4.0u 855078 Ko 8 S rdios)) &8, J9E 30m/s 3508 EhoendbHb.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118595 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of this drop is _ "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118595 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 $B08mS 68 Dot 2V o FBIDS & (@EK, TAD) DS GroESD
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118596 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118596 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Lo B b, uf v Bl L W ol s .8 a ,
=] adub;i{‘.’&w.:l s} f;a..\)ﬁ EDAN a8 2 HI\_\'.\J‘SD@MQ.A:D EDAS I\‘_a..\.y;:.wmnﬂ V=3t volt = E..ES EO0T0.
i o wod 1 s ROyl F o oL oy : o guvim. o R
t @:d0 D). t=0415 PGS B adPHd 4. Sond TS DS &8
0 o L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118597 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest position is _m/s. (Take g=10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 24 Question Id : 70819118597 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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(g=10 m/s?)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118598 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

1 B 3
105

where, a and § are positive constants. The equilibrium distance between two atoms will be
: d

[Eu b
[

L

, Where a=___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118598 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819118599 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

)

4
—Eqgj

oo T e T
Theelectric field in aregion is given by E = [f]_"nif I
\ 2 5 )

% The ratio of flux of reported

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a: b, where a=

|Here I ¢ I and L are unit vectors along x, y and z-axes respectively|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118599 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118600 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
~x1078H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118600 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118601 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis ___ cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118601 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

y B W s W ha L s e o B = e B T Y. P
2,8 Loersed ELES0 Hoé 20 cm S 10 cm Erdsned® &0ds a0 &8 pe (acloan
Bl amal @b o B A o M SN

o Ouaw @ 50550 TEroadsm _Cm.

</ ) LA

B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 29 Question Id : 70819118602 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as KV,
The work done when the temperature changes from 100°C to 300°C willbe _______nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118602 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118603 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K| (closed), the jockey is adjusted to touch the wire at
point ], so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ L E; , a
gives then null deflection at ]2. The value of L—l is E , where a=
2

|| £ G
=/ '
I'E, ~ 7K,
| E
oK A |
«2em— ], I
A
£— I i
I
I
Rh J,¢—60 cm—}l :
, J—— »
B"{ Im 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118603 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5 to 5.001
Chemistry Section A
Section Id : 708191780
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911060
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819160961, (A

70819160962, (P)

70819160963, (©)



70819160964, (O

Question Number : 31 Question Id : 70819118604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P Sy o R Ry e g Bl .
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Options :

A)

70819160961, (



70819160962. (B)

70819160963, (©)

70819160964. (D)

Question Number : 32 Question Id : 70819118605 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

5
70819160965.

70819160966, |12

70819160967, P°2

He,'
70819160968.

Question Number : 32 Question Id : 70819118605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v @bérd brrodo Hoeo, 8ol arded® &8 S8
Options

i}zz
70819160965.

70819160966, | 1c2



70819160967, 22

He,"
70819160968.

Question Number : 33 Question Id : 70819118606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 is x. The value of x is :
[Assume : No cyano complex is formed ; I(HP(AgCN] =22x10"16 and K,(HCN) =6.2x10 0]

Options :

70819160969, 0-625x107°

3 [
70819160970, 1-6 %10

70819160971, 2-2x 10710

5
70819160972, 1-9 %10

Question Number : 33 Question Id : 70819118606 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

pH 3 230 [ Smos AgCN (orsle A0S x. x Do o

©DE0k) (K, (AgCN) =2.2x10 16 %8050 K (HCN)=6.2x10~10)

Options:

70819160969, 0-625x10°°

70819160970, 1-6%107°



. 16
70819160971, 2:2x 107

i A
70819160972, 1-9 % 10

Question Number : 34 Question Id : 70819118607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Z |15

m

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption

directly proportional to P**. The value of x is :
Options :

70819160973, 1

70819160974, Z¢1°

70819160975. =

70819160976.

Question Number : 34 Question Id : 70819118607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options:

70819160973. 1

70819160974, “¢T°



70819160975. =

=

70819160976.

Question Number : 35 Question Id : 70819118608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options:

70819160977, AGvsT

70819160978, AHvs T

70819160979, G vs P

70819160980.

Question Number : 35 Question Id : 70819118608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N
e

Do Do Hrdosh.
Options :
70819160977, AG vs T

70819160978, AH vs T

70819160979, G vs P



70819160980, (AG ~TaS) vsT

Question Number : 36 Question Id : 70819118609 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following equation depicts the oxidizing nature of H,O, ?
Options :
20819160981 KIO, + H,0, — KIO; +H,0 + O,

N ¥ ~
70819160082, 127 H20; +20H™ — 27 +2H,0 40,

P
70819160083, 2 TH0p 12HT — 1, +2H,0

B 5
20819160984, 2t H20p — 2ZHC+ 0O,

Question Number : 36 Question Id : 70819118609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OO ., LT
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Options :

70819160981. KIO, + H,O, — KIO; +H,0 + 0,

A ¥ ~
70819160082, 2+ H202+20H™ — 217 +2H,0+0,

P
70819160083, 2 TH0p 12HT — 1, +2H,0

B 5
20819160984, 2t H20p — 2ZHC+ 0,



Question Number : 37 Question Id : 70819118610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B;,H is :
Options :
70819160985, All B—H—B angles are of 120",

70819160986, Lhe two B—H—B bonds are not of same length.

70819160987. Terminal B—H bonds have less p-charactr_-r when compared to bridging bonds.

70819160988. Its fragment, BH; , behaves as a Lewis base.

Question Number : 37 Question Id : 70819118610 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B,H, & {01 dddes :

Options :

et~ il £ = P e
70819160985, & B—H—B S'eren 120°.

20819160986 Botbs B—H—Bootren a8 SrES) &odd).
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Question Number : 38 Question Id : 70819118611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  CeO, can be used for oxidation of aldehydes and ketones.
Statement 1 : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options:

70819160989, DBoth Statement I and Statement 1I are true

70819160990. Both Statement I and Statement Il are false

70819160991 Statement | is true but Statement 1l is false

70819160992. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819118611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
808 ol ANVmen BPEN :
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Options :

708191609809. Des 1 500050 R8s 11 Toi D0HD
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Question Number : 39 Question Id : 70819118612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options:

70819160993, V>' and Cr'

70819160994, Cr* and Mn**

70819160995, Ni*" and Cu’

h 24 B 3
70819160996, e~ and Co

Question Number : 39 Question Id : 70819118612 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

808 O sk ePy Qﬁ:lgga':a DTG50 2, BG0M Sotnod ?

Options :

P fop oal
70819160993, ¥~ 00w Cr

ot Lap al Mg D
70819160994, Cr' 00050 Mn="

L R A AT
70819160995, NI~ 80w Cu

70819160996, Fe~ " sh8din Co*



Question Number : 40 Question Id : 70819118613 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes

The hybridization and magnetic nature of [I\;In{CI\IJ{i]ﬁ1 and [FD{CI“\I){-J]3 , respectively are :

Options :
70819160997, 4°sp° and paramagnetic

70819160998 sp’d® and diamagnetic

70819160999 d*sp” and diamagnetic

-y e en :
70819161000. sp’d- and paramagnetic

Question Number : 40 Question Id : 70819118613 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes

[Mn(CN)J*~ £:805» [Fe(CN) ] "o ©o8b88msn Sa8as» dhdod Sgrho ST
Options :
I
70819160997, ¥ 9P B SocdRRodo
32 S805n ESTr adhImos
20819160998 sprd? by S edhIrodo
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Question Number : 41 Question Id : 70819118614 Question Type

Is Question Mandatory : No

: MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :
Options:

70819161001, Both Statement I and Statement 11 are true
20819161002. Both Statement | and Statement 1l are false
70819161003. Statement 1 is true but Statement 11 is false

70819161004. Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819118614 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
20819161001 ==& 15000 288 11Bok 8553

70819161002, 2=0w 1 0005n 258es 11T0& 9B =73

70819161004. 2es 1 9058 =meh == ARt 1158358
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Question Number : 42 Question Id : 70819118615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 180 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options:

70819161005, 20-33
70819161006, 93.33
70819161007. ©3.53

70819161008, 21.63

Question Number : 42 Question Id : 70819118615 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819161005, 20-33

70819161006, 93.33

70819161007, ©3.33

70819161008, 21.63



Question Number : 43 Question Id : 70819118616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[dentify A in the given chemical reaction.

/CH3
B Mo,O o
2 CH, 203 - A
L - ~ 7 773K, 10-20 atm major product
113
\\“CHZ/ M\‘CH;
Options :
708191610009. :
: CHj,
70819161010.
70819161011. :
: .CHj,

70819161012.

Question Number : 43 Question Id : 70819118616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

708191610009.

70819161010.

70819161011.

CH;

SRR

70819161012.

Question Number : 44 Question Id : 70819118617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identif}-' A and B in the chemical reaction.

i L]
O o LY
(major) dry acetone (major)
NO,

Options :

OCHj I

Cl ]
r""L = H =

I NO

70819161013, NO, =

70819161014.



OCH, OCH;,4

Cl I
A= B =
NO, NO,
OCH; 1
A= B =
Cl Cl
NO, NO,
70819161015. °
OCHj, OCHj;
Cl
A = B=
|
70819161016. ek Nl

Question Number : 44 Question Id : 70819118617 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SRS H85E° A S0dk B ol Mool

OCH,
. E e A Nal e 1)
(major) dry acetone (major)
NO,
Options :
OCH, I
Cl Cl
A= B =
NO, NO;

70819161013.



OCH; OCHj

Cl I
A= B =
NO, NO,
70819161014.
OCH,4 1
A= B =
Cl €l
NO, NO,
70819161015. ‘
OCH,4 OCHj,
i)
;'A'L = B =
Cl
70819161016. Y 52

Question Number : 45 Question Id : 70819118618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) H;O+, A
_ 2) SOCI,
CH3CH,CN > 7
3) Pd/BaSOy, H,

Options:

70819161017. e

70819161018, (CHaCH,C0),0

70819161019. S e e



H,CH,CHO

70819161020. ©

Question Number : 45 Question Id : 70819118618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8o BAADHS L’iﬁjﬂ’ S &) ¢
1) H,O+, A
_ ; 2) S0OCI,
CH4CH,CN 2 s
3) Pd/BaSO,, H,
Options :
70819161017, <1 3CHCHOH
70819161018, (CHCH,C0),0

70819161019, HaCHCH;

70819161020, “H3tHa

Question Number : 46 Question Id : 70819118619 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not form acetaldehyde ?

Options:

Pd(11)/ Cu(II)

CH2: CH: + 02 H:D

70819161021.

; CI’DB—ITESD_:i_
CH;CH,OH -

70819161022.



i) DIBAL-H
CH;3CN — o
it) H,O

70819161023.
Cu

70819161024 273K

Question Number : 46 Question Id : 70819118619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

Pd(11)/ Cu(II)

CH,—CH,+0O
2 2 2 H,0

70819161021.

CH;CH,OH -

70819161022.

i) DIBAL-H
i) H,0

CH5;CN
70819161023,

Cu

CH,CH,OH
: 573 K

70819161024.

Question Number : 47 Question Id : 70819118620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NES COOH OH
NO, NO,
A= B -
NH, NH,
OH NO,
Options :
70819161025, £ @and B only
70819161026, © O™
70819161027, © and C only

70819161028, Bonly

Question Number : 47 Question Id : 70819118620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q& a0 S’*CJ"‘; 5 [orsesos® s =0 & eB)E Abde S0 33y &S0/ ~JM:| Feoen
NH, COOH OH
NO, NO,
A= B= C=
NH, NH,
OH NO,
Options :
lales o (222
70819161025, A 0D B (@S
vl 2
70819161026, & “7E

70819161027.



o]
£
d
(3,
£l

70819161028. Sk

Question Number : 48 Question Id : 70819118621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
o i) Sn/HCI
i) HNO,
iii) Aniline
NO,
5 i) NaBH,
B ii) NaOH
iii) Aniline
NH,
c i) HNO,
) ii) Aniline, HCI
Options :

70819161029, “* only

70819161030, < LY

B only
70819161031. i

70819161032, +and B

Question Number : 48 Question Id : 70819118621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



i) Sn/HCI
i) HNO,

iii) JVO

NO,

5 i) NaBH;
) ii) NaOH

iii} oo il

NH,

i) HNO,
Ch- . -
ii) e85, HC1

Options :

L o) 02
70819161029, ‘> &

Lo 202
70819161030, & “7°&

L
70819161031, B S8

A =g
70819161032, 2 20020 B

Question Number : 49 Question Id : 70819118622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which statement is correct 7
Options :

70819161033, Puna-N is a natural polymer.

20819161034. Buna-S is a synthetic and linear thermosetting polymer.

70819161035, Neoprmm is an addition copf}l}-‘mc-r used in pla_qtic bucket manufacturmg.



20819161036, 5}-’11&10515 of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819118622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
28 DT ?

Options :

70819161033, =%

70819161034, =%

ABPDS PRE 28¢5 SairbS® e3TrA0T a8 Hofes BV
70819161035. e

T :-‘—{_ ‘_:f.--:E"'f s R"E ten ""f\._,_:'c“‘, flat: Eﬁ\ = als "-‘"_L'{!F,.-
70819161036, 5% S R02Aed” NNeErd wS RO WAAVo

Question Number : 50 Question Id : 70819118623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options :

70819161037, ©-1 of galactose and C-4 of glucose

70819161038. C-1 of galactose and C-6 of glucose

708191610309. C-1 of glucose and C-4 of galactose

70819161040. C-1 of glucose and C-6 of galactose



Question Number : 50 Question Id : 70819118623 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gx
g
a3,
E':-I]
.
i

S

S8 C-1 528

70819161037, " °

J

i
I|I'|\.
J
fék
o
éﬂ
=
3
3
& il
i
]
o

70819161038, " “%,

e ED B L L Al
KPREE C-1 5000

Ei
=
=
el
E':-I]
M
]
.

70819161039.

70819161040, =2

Chemistry Section B

Section Id : 708191781
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911061

Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 70819118624 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of Na,CO, in the mixture is . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819118624 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

04 g © NaOH 80 Na,CO, 500k £od aihdirad) d@hdind Inde 500

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819118625 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burst is __ . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118625 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a8 8 Bd JEFwl araod & 27°C5e 35 psi S8 Dodedod. 40 psihso mrSbond
A wl
0d Hhendod. h 8 @ S CHE drbeodod . ({0 porosiin)
3] a Ly =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118626 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol "%, The magnitude of AH,qq for the reaction

o 3 _ _

[Assume ideal gases and R=8.314 ] mol "1 K 1]

s kJ. (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819118626 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

s

HIE, NHCN, oduld & Bg T NH,CN & AU - 74224 K] mol 1 re E50F%5
e % : : :
aéod. NHyCNg) + “0y5) —Nogy + Oygn + HyOpgg

SEH AHyye K. (838 Sporodsin)

)
[6¢5) TPainden @80l $0an R=8314 ] mol~1 K]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118627 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1 molal aqueous solution of an electrolyte A, B is 60% ionised. The boiling point of the solution
gkl atmig.. o . K (Roundod—oft to Lhe nearest integer)

[Given K, for (H,0)=0.52 K kg mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819118627 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Y = "0 an &
1 3meres g.{’:Dﬁa oafj_ocw uu *55. B aordso 60% woHNE%m0 Bobod. 1 atm a.ﬁf: mmw
f

rayd dsdw
g

[K,, (H,0)=052K kg mol~ 1P adaisa]

K. (’ff_fd a{,gfuam})

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118628 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[n basic medium {_‘r{}42 oxidises 5‘2{}32 to form 5{}42 and itself changes into Cr(OH),

The volume of 0.154 M Cr{_}f required to react with 40 mL of 0.25 M 52{']32 is

_mL. (Rounded-off to the nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118628 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

£l

8 SrBos® Cr0 27, 5,057 D 504%™ MRkt ediEdeno 3D B ©b CrOH),”

C

SrgyBothsod. 40mlo 025 M 5,0,2°8 S8 abHrdd eSS 0.15%4 M ¢ 2
Hod008mesy mLed®) (& 0 Hpossn)
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819118629 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K
logk
1/1" —
The temperature at which the rate constant of the reaction is 10 Sl . ] K.

(Rounded-off to the nearest integer)

[Given : The rate constant of the reaction is 107> s ! at 500 K]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118629 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

p— el 1 = [ = #
aA+bB = cC+dD ~:355§D log k wvs T S350 Su{ﬁu:osﬁ;:-:;ma&.

slope = —10000 K
log k

1 —
/l‘

—r - r 5 i & o £
SEBen Joroto 10 15108 adfs (K&°)
5 wd -

[500 K & 58 Bén dHorodo 1073571 ondwdod ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118630 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol I while
the electron gain enthalpy of Br is —325.0 k] mol I"Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
) (TR || ! k] mol L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118630 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Na _, o0 Na* Q83 00HEdn Jogrd) 495.8 k] mol ™, Br QPN (P Qo)
3250k mol 1. NaBr &=835 um‘f@ 7284 k]mol ¥ 3;\, 2600, NaBr ecied 50858 E‘“éu
i‘ﬁ;’ﬁ:‘%é #8 (-)_____ x10 LK mol 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118631 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysisis
(A) BF3 (B) SiCI4 (@ PC15 (D) SF{i

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819118631 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

an i,

8007PAS® 2Tl wlor sod FB&e v e
(A) BF, (B) SiCl, (© PQ, (D) SF,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118632 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the fol[owﬁ\g chemical reaction.

CH = CH 1) Red hot Fe tube, 873 K Pecdict
= = | TOoduc
' 1 72)Co, HA, AlCT, ‘

The number of spz hybridized carbon atom(s) present in the productis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 59 Question Id : 70819118632 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
808 BraD S5 HRotol

1) 2150 3& Fe A0 873 K

CH =CH = 5,735,550
2) CO, HCl, AICl, =
o I T, r LT B Al Cug o
&N &) sp° JoBBEBn Yo Dsrwwde Doyg
ol A = =t e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118633 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the provided information in the following paper chromatogram :

A =]
=Solvent front
Be A
2cm
5cm
Ae : 4
2cm
T [PURN— v
/ -
4 % Base line
Spot

Fig : Paper chromatography for compounds A and B.

the calculated Rir valueof A x1071,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819118633 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

& (Bol Htvod® NS Ideardo GAEACLD.
L ‘-.. —_
OIe3 (Do)
E=
2cm
S5cm
A
v -
i,_r" -
Ea 358 o
L]
HBoDS AGWE) R Jendd __ x10 L.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 708191782
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911062
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f, ¢ : N — Nsuch that f(n+1)=f(n) + f(1) ¥ neN and g be any arbitrary function. Which

of the following statements is NOT true ?

Options :
70819161051 If fis onto, then f(n)=n ¥ nesN

70819161052, [1s one-one

70819161053, If g is onto, then fog is one-one

70819161054. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L=

f. 8 : N = N $hosee o) neN o f(nt+1)=f(n)+f(1) od@xtinr $HBck g 28
I'-'I | -;I

B T AT A I Iy~ - Y- By T e Sy Y- P
GIeEyhE (Dabcho w:d8od. (8ob (PR0Fed” 28 Jdeo 5 & 7
%)

- L=

Options :

ole |:'::"' &0 " =n v
70819161051, SECKED SRS, ful—n raeN

e o=,
oS0

70819161052, + ~ =]



=

70819161053, 8 *OU=0 s, fog ¥IEo BHBOH

e ¥n eCmE o eneEe 80 aaf
70819161054, JO8 T wand g@FEo wHIoh

=

Question Number : 62 Question Id : 70819118635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the Iinos'{z —-i)z= (2 + i)z and '{2 +i)z+ (i— 22— 4i=0, (herei?=-1) be normal

toacircle C.Iftheline iz+ Z+ 14+ i=0is tangent to this circle C, then its radius is :
Options :

70819161055, V2
70819161056, 2¥2

70819161057, 2v2

'.1
70819161058. V2

Question Number : 62 Question Id : 70819118635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2880 C8 2 -i)z= (24 1)7 DB 2+ i)z + (i — 2)Z - 4i = 0, (= - 1) &I X&Tpew
8000 0:58%084 W0y iz+Z+1+1i=0 odd a’.baﬁu Cs 51:53¢ ©d T
S )
TS0
EE

Options :

70819161055, V2



JH

(]
<
(]

70819161056.

=QJ”*

70819161057, 2¥

ol
%)

70819161058.

Question Number : 63 Question Id : 70819118636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality 12 2(3k —1)x 4 8k2 -7 >0 is valid for every x in R,
15 :

Options :

R

70819161059.
70819161060.
70819161061, %

70819161062, U

Question Number : 63 Question Id : 70819118636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
©d) rec RogH x2-2(3k-1)x+8k2-7 > 0 Jaddagym™ Ho
\.i:.‘

Options :

70819161059, 2



70819161060, °

70819161061, 4

70819161062, U

Question Number : 64 Question Id : 70819118637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w w i
. T . Y . 9
H0<0,d<—,x = lCOS nﬂ,y= lsm “® andz= lcnsznﬂ-sinznd: then :

ik n=0 n=0

Options :

70819161063, XV z=(x 1 y)z
70819161064, ¥ TZ=(xty)z

70819161065, *Y tyztzx=2

70819161066, V> =4

Question Number : 64 Question Id : 70819118637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o w0 .

v ™ : 2n v . In E — £t
<0 b= 5= 2, cos O,y= ) sin™d HBawz= ¥ cos™0 - sin”" § WO0SHED,
= n=0 n=(] =

Options:

70819161063, ¥ z=(x 1 y)z



70819161064, ¥ 1z=(x 1Y)z

70819161065. ‘Il.Ir l yZ I =7

70819161066, V7 =4

Question Number : 65 Question Id : 70819118638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If Rolle’s theorem holds for the function flx)=x*~ax?+bx 4, x<[1, 2] with l— | =

then ordered pair (a, b) is equal to:
Options :
70819161067. )

70819161068. 5, —8)

708191610609. 55

(=5 —8§
70819161070,

Question Number : 65 Question Id : 70819118638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fo)=r-ax?+bx-4, xe[l, 2] & f' '; = 0 o@xKtn

(a, b)=
Options :

70819161067. )



70819161068, > %)

708191610609. L

(=5 —8
70819161070.

Question Number : 66 Question Id : 70819118639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 1 1 Ll
1 4 g . F —
lim | 14 = n is equal to :
n— n-
. P
Options :

70819161071, ©

B3| =

70819161072.

70819161073. ©

70819161074, !

Question Number : 66 Question Id : 70819118639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[a—
=
-
=
—
=
I
—
-

Options :

70819161071, ©

B3| =

70819161072.

I'".'|r—*.

70819161073.

70819161074, !

Question Number : 67 Question Id : 70819118640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the integral

do is :

Jsinl].sin 20 (sin®0 + sin*0 + sin?0) V2sin®0 + 3sin0 + 6
1 — cos20

(where c is a constant of integration)

Options :
. , 3
= [9 2sin®0 — 3sin?0 — 6sin?0 }7’— FoC

70819161075, 18

3

i [9 2c0s®0 — 3cos’o 6{:(}52!]-‘5 FC
70819161076, 18 :

3 i
_i 11 — 18sin”0 + 9sin*0 l%inﬁl]}?— o
70819161077, 18



. 3
_i {11 18cos20 + 9cos?o 24:055[]-‘2 F e
70819161078, 18 * '

Question Number : 67 Question Id : 70819118640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ol il il T
odedPSEda)

sinf.sin 20 (sin?0 + sin0 + sinZ0) v/2sin?0 + 3sin0 + 6
j ( ) \/ do Go¥) aend :
1 — cos20 =

T T o
(28)& c Jagesd Horoo)
o @ !

Options :

1 3

— [9 2sin®0 — 3sino 6sinzl]}2 F ¢
70819161075, 18

1 3

— [9 2c0s%0 — 3costo 64:052!]-‘2 FC
70819161076, 18 :

1 3

— ['l'l 18sin°0 + 9sin*0 lﬁinﬁll}?— F ¢
70819161077, 18

: 2
_i {11 18cos?0 + 9cos*o 2{:05'5[]-‘2 tc
70819161078, 18 © '

Question Number : 68 Question Id : 70819118641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
.3
The value of szell Jd;r , where [t] denotes the greatest integer = t, is :

-1

Options :



'c-l'l

70819161079, 2

1
70819161080, -¢

2T |

70819161081, ¢

e+ 1
70819161082. 3e

Question Number : 68 Question Id : 70819118641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4

' x “ =5 . L “_ e LY i e O L
t oo PR K0S SpTE os)) [t] & I, J.l el ]ch ) SJenss ;
[i) L T

Options :
e+ 1

70819161079. 3

-
70819161080, -¢

2T |

70819161081, ¢

e+ 1
70819161082. 3e

Question Number : 69 Question Id : 70819118642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

xz 4x+y+8

, then this curve also passes through the point :
x=-2

Options :

70819161083. (4, 5)

70819161084. 2:3)

70819161085. ® 4)

70819161086, (4 4)

Question Number : 69 Question Id : 70819118642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

'R.E"s

26 S0 Sorefotd fhor e tlD S Bothd (xy) S8 5uPp e ¥ — X T Y +38
i A (&
xr—2

2008 @ HEo (Bod FAS° 2 Hokh) o Erae PFéod ?
Options:

70819161083, (* °)

(5 3)

70819161084.

70819161085, > %)

70819161086, (& 4)

Question Number : 70 Question Id : 70819118643 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :
Options :
70819161087, (¥ ~4* (¥ +2)?=16

o2 s
70819161088, X 2"ty —4)7=4

. — AVZ
70819161089, (¥ ~4)° 1+ (¥

2
70819161090, (¥ 2=+ (y—2

Question Number : 70 Question Id : 70819118643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x-y+1=0 o3 HEE0Y iﬁﬁfgj &othi) (3, 5) ag) (Bdoasn Sob THE E%?;_J &odnod :
Options:

70819161087, (X 47+ +2)7=16

o2 s
70819161088, X 2"ty —4)7=4

e — AVZ Ar2
70819161089, (¥ 4"+ (y—4)==8

o2 gt
20819161090, X ~2)*+(y—2)*=12

Question Number : 71 Question Id : 70819118644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A tangent is drawn to the parahola y3=6x which is porpendicular to the line 2x 4 y=1.
Which of the following points does NOT lie on it ?

Options :

2
70819161091. 03]

70819161092, (6 0)

70819161093, (> %)

(4. 5)
70819161094.

Question Number : 71 Question Id : 70819118644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sordedho y2=6x% NS ¥ G0 2 +y=183 JF0eSH wonorr &od. §ob dolHed’
(% ¢
Qb © Ty Gokd ?
Options
0, 3)
70819161091.

70819161092, (& 0)

70819161093, (> %)

(4,3)
70819161094.

Question Number : 72 Question Id : 70819118645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



" 9 . 2
- : i
If the curves, & | yl_ =1 and ? | ”E = 1 intersect each other at an angle of 90°, then
a )
which of the following relations is TRUE ?
Options :

70819161095, @ tb=ctd

70819161096, @ b=c—d

c+d
a+ b

ab =
70819161097.

70819161098, @ ¢=b+d

Question Number : 72 Question Id : 70819118645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 2

Cx,
e
O
o

er £ o £
o N° o mpolohHhod,

Options :

70819161095, @ tb=ctd

70819161096, @ b=c—d

c+d
+ b

ab =
70819161097. L

70819161098, @ ~¢=b+d

Question Number : 73 Question Id : 70819118646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equations
[+m-n=0 and I*+m?-n?=0. Then the value of sin*a + costu is :

Options :

w|w

70819161099.

0w

70819161100.

h| =

70819161101.

| 3

70819161102.

Question Number : 73 Question Id : 70819118646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bo $688peo, T8 68 S 14+ m—n=0 O P+ m?-n?=0 o HISEHNR P8 5y
&0 o ﬁ,ﬁ)}gﬁgdb{m?u{ﬁ ot sinfa+costa Gho¥) enss :
Options :

5
70819161099, 8

3
70819161100. 8

1

;
70819161101, =

3

4

70819161102.



Question Number : 74 Question Id : 70819118647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

¥—4 oigel g1

2 B el
Options :
x_ ¥ | 2
70819161103, 3 4 3
x _ ¥ I=Z 2
70819161104, 2 4 3
- e e
70819161105, 3 4 3
x gl g2
70819161106, 2 4 3

Question Number : 74 Question Id : 70819118647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ez s et X=1 y+1 z-=-1 ,
Dot (0, 1, 2) oore e $SHTp —— = J ~a a — & ©oR0TF &Y V0¥
S Bemen
Options :

x. ¥ | 2
70819161103, 3 4 3

70819161104, 2 4 3



|

b=
i
-
(]

X
70819161105, 3 4 3

| =
s
w3

70819161106. -

Question Number : 75 Question Id : 70819118648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. X 1
When a missile is fired from a ship, the probability that itis intercepted is 2 and the probability

3 .
that the missile hits the target, given that it is not intercepted, is 1 [f three missiles are fired
independently from the ship, then the probability that all three hit the target, is :

Options :

1
70819161107, 27

oo |

70819161108.

0| W

708191611009.

*arﬁ'

70819161110.

Question Number : 75 Question Id : 70819118648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2.8 TE Lol EHJ a8 S DGR DOTEHRDH Dogrgd n 00 HFE’T 2OLFBE
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Options :

1
70819161107, 27

!I‘r||-—i.

70819161108.

| W

708191611009.

Ab-lu'

70819161110.

Question Number : 76 Question Id : 70819118649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax2 +bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819161111, 36

70819161112, 54

M|"“

70819161113.

70819161114.



Question Number : 76 Question Id : 70819118649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. '} i ol Y, v i o ‘_4:
56 -850 ax? +bx +c=0 &%) Kieeseen a, b, cen a8 FIED Saetdd) EBose oD
¥
3ua,. e, ) @ BEEEe,DB DERS Horeren Gotokhd Soor _“Jc‘ﬁ ;
Options :

70819161111, 26

»
70819161112, 54

»
70819161113, 72

5
70819161114, 216

Question Number : 77 Question Id : 70819118650 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 6 = [0, 27| for which sin 20 + tan 20 > 0 lie in

Options :
Y [ 3w
n,f%| U [ﬂ}.é1|
70819161115. ) )
o Tr-\, .-’Tr 3’.r‘ f ﬁrﬂ' llTI'\'
|2 Bl SO 5=
70819161116, + %/ L2 4 6



g _.:T'\l| f_':_r '%“ | |f F“ |
0 —|wul— —lulm
70819161117. * =/ . 6
0335
A 5, y) F, e

70819161118.

Question Number : 77 Question Id : 70819118650 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

sin 26 + tan 26 > 0 ﬁ;ﬁaﬁ)ﬂy ngﬁ:ﬂ} @) 0 € [0, 27] en YeTn{ AT

Options :

. E\] . |fFr F’r_’.r\'|
70819161115, ~ 2/ L 2

f T} [ 2, 2= [ 2, B
70819161116, * */ LI O B T

(0 iWﬁ| U |fE Cail [« g
70819161117, © 2/ 27 4 28

D EE (=2 (T
70819161118, © 4/ 2" 4 S

Question Number : 78 Question Id : 70819118651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819161119, 24



70819161120, 30

70819161121, 20

70819161122. i

Question Number : 78 Question Id : 70819118651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
xyz=24 ﬁ-;JfB::J&pﬁ O {553?{;-‘35;{.}5‘@ (x, ¥, z) e Sﬁua:;}' :
Options :

70819161119, 24

70819161120, 30

70819161121, 2@

70819161122. -

Question Number : 79 Question Id : 70819118652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man's height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45". Then the time taken (in seconds) by the boat from B to reach the base of the
tower is :

Options :

70819161123, 10



10(3
70819161124, 1033 + 1)

70819161125, 10v/3

70819161126, 10(~3 — 1)

Question Number : 79 Question Id : 70819118652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.8 Joo D Dok a8 a’,ﬁ 2.8 Hoth Aol 568 JKos® oo JYre a8 &en SRen
ﬁiﬂéﬁ@?@(ﬂ: & goths) EC:H: 502 od Hod Hend ETJE\"J;L;‘FB&I&\J HoA3, @D DBKeIES
8:28%08) 30° r* &ol. Sogio ario Jhre (3 Jogo et N&HYo & 55rdom ¢od
0:58%08) & o 20 LY (HoirdomE 35@5}%0\ dochsy B &g éﬁa’:\:&%ﬁwu 45° e wob. @
&0 BHod Qoo o 3585508 aié;f Saaho [?J?-E,gfi?g]

Options :

70819161123, 10

10(J3
70819161124, 10053 + 1)

70819161125. 103

70819161126, 103 — 1

Question Number : 80 Question Id : 70819118653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :
Options :

70819161127, = (A= B)



70819161128, ©* — (A v B)

70819161129, & — (A~ B)

70819161130, * 7 (A < B)

Question Number : 80 Question Id : 70819118653 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ALY ¥ LV I I = | a
(R0 0A — (B — A) 1Sol e

=

o

G

(
(M=

L (P
*E.'Zk."f.'_f!;_}u E

Options :

70819161127, ©* =7 (A= B)

70819161128, ©* — (A v B)

70819161129, & — (A~ B)

70819161130, ©* 7 (A = B)

Mathematics Section B
Section Id : 708191783
Section Number : 6
Section type : Online
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Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

20

Yes

1
7081911063

Yes

Question Number : 81 Question Id : 70819118654 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 tan'fg] 'r‘
\ 2/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

2 w then 13(a®+b?) is equal to

Question Number : 81 Question Id : 70819118654 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A

[
0 tan| —
\ j,.'

A= "] %0808 (Iy+A) (I,-A)" 1=

tan { %J

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

fa -b :
b g |- 0O%NS 13(a2+b?) =



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819118655 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

& ¥
let A=|y z

X

z
x |, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.

y

If A2=I3, then the value of x> l'ﬂ ro s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819118655 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i |

Xy z
XY, 2303 Sogjen x+y+2>000aw xyz=20&@gRgome Yo, A=y z x| ook,
T

A2=1, maniedh 4P+ ¥ Dend

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 83 Question Id

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+y+2z=
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id

Correct Marks : 4 Wrong Marks : 0
SabB8ee a3

kx +y 4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id

: 70819118656 Question Type : SA

kisequal o .

: 70819118656 Question Type : SA

: 70819118657 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Tho total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5, if the repetition of d[glL’i is not allowed and numbers are divisible by either 3 or 5,
is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118657 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AT

1,2 3,4, 5 9030 dadrhod, wcse aJ)e

1000 © &5 Gonty SersHidhre e Roge Sogy
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118658 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Aj, A, A, ..... be squares such that for each n=1, the length of the side of A equals the
Iongf_h of dmg_nnal of 3\ i If the length of ,5‘ is 12 cm, then the smallest value of n for
which area of A, is Ie% than one, s

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819118658 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= et / e L LT £ o - / e B e AT Y SRSV N T
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819118659 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=2x+1)-3x + 2|4 r2+x-2,xcRis
not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 86 Question Id : 70819118659 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f(x)=12x+1|=3x+2{+]x+x-2, x € Rod I‘:-.\,E\Juf\]u oRgodho U dode Nlebvy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819118660 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of x° is unity and it has

; )
extrema at x=-1and x=1.If lim fi =1,then5f(2)isequalto .
—0 yx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118660 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x=-10000n xr=158 S&I& Dendod EOA, x°6@ng) e a.88m SONY 68 8018
il J
D506 f(x) @988, @Y lim fla) | @ond 5 f(2)=

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118661 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A'isequalto .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118661 Question Type : SA
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 89 Question Id : 70819118662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The locus of the point of intersection of the lines (V3 )kx 4 ki 43 =0 and

ﬁx ¥ 4( \,ﬁ] k =0 is a conic, whose socenincily ®m - .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—

.{\.ﬁ]kl' tky — 443 =0 iuﬁub’ﬂﬁx y 4({3) k=0 o3 $55¢09e Pos HodPH
maw Sothnto a8 a‘*uéaﬁfﬁa oy m?ﬁm@é

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819118663 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



3 -

— A F.Y A =3 A A A e A
Let a=i+2j-k b=i~-jand ¢ =i~ j— k be three given vectors. If r isa

— e - = - =

vector such thatr x a = c x aandr- b =0, then r- a is equalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819118663 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—
a

A =3 A
k,b=i- j $H0d

e -

=1i+2
— — —
r d C

BSIAL

e,

X

i

X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



